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Roll No. ” 145? 4/ o Sp#irad ( For all sessions ) PaperCode | 7 | 1 [ 9 | 1

Group-I-u{J/

Mathematics (Science Group)(Objective Type) g P §f-2) (el FS L

Marks: 15 Time: 20 Minutes &#20:= 154
A dedizaus 'c/z;b;m,/lﬁf‘qféféaD/:hC,B,A&U}Z;z@LvLJlr/;%diiku:@/’éfj;agiﬁﬁomrﬂ?:&)
‘ «L[)/atﬁk(fuf‘&/jt)/;}l:w;dﬁd;/’bLD L CB-Asz& L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1. The quadratic formula is: Uyl 14
~b++/b* —4dac b++b* —4dac K’ ~b++b* +4ac b++b*+4ac
(A) x=———— (B) X=—"7— () y=——7— D} T
2a 2a 2a 2a
2. Sum of the cube roots of unity is: -4‘—-,&!5{;‘»"0‘/;?1(}5/[ 2
(A) 1 (B) -1 © 0 () 3
1 1 1 1
3. E+E is equal to: el o E 3
1 i 1 a-p { a+p
A o B ¢ p ©)  ap O ap
4. Find x in proportion 4:x::5:15. . _afaf{»ﬁ‘xut42xtl5:15,/t~; 4
75 4 3 &
(A) 7 B) 3 1\ (b) 12
5. Inaproportion 4. p:: -4 @anddare called: _ujLMd»!auﬁ da:bueid % 5
(A) means 23 (8) extremes ey
(C) third proportion wrElA (D) fourth proportion Y4
6. The identity (5x+4)2 =25x* +40x +16 is J)C‘(Sx%-él)2 =25x +40x+16 L 6
true for value/values of *. v:‘;u»ééuk;/d ......

(A{ one ki (B) two (€) all U (D) four sk

7. Power set of an empty set is: _‘gtnb*{ug&{dl} 7

x4 ®) {a) © {¢.a) o {¢}

8. Point (-1, 4) lies in the quadrant. —e b G-, 4) 8

(A) I (B) I (C) III 6y v
9. A data in the form of frequency distribution is called: _‘gtlbﬁwu:f&;jz)’)ﬁ 9
(A)/Grouped data ﬂy‘u’f;f (B) Ungrouped data )!rd‘:/;f
(C) Histogram :ﬁu}K (D) Sum pr
10. The most frequent occurring observation in data set is called: quikfwdbé._t’gﬁ;pc,quﬁ;l/gf( 10
(A) mean  boldl (é)/‘mode nle (C) median - (D) average bl
cosec’@-cot’ @ =..cunn. L

11 cosec’@—cot’ O =........
(A) -1 ({) 0 (C) 1 (57/ tan@

Sl shgl 12
(B) double of the diameter e 2

12. Radii of a circle are:
(A) all unequal  libpl

(©) Half of any chord 25T 5™ (OF all equal eV

13 A line which has two points in common with a circle is called: U s S L e L] 13
(A) sine of a circle . sinbe7b (B) secantofacircle , secant e 70
(é’ﬁa;ngent of acircle , tangentée /b (D) cosine ofacircle , cosine e 71

14 A semi circumference and the diameter of a circle -c‘,im_---:ﬂ)u?}Ku)»ﬁf.z..ﬂwug‘ﬂﬁc..}b A4

both subtend a central angle of:
(Af 780° B) 270° () 360° (D) 90°
15. Angle inscribed in a semi-circle is: _lgt'x,;ljj:‘;uf@/'bﬂ .15
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S8.8.C - (Part-II) -A-2021

Roll No.___ s i bl ( For all sessions )
Group-I-g..:Af X
Mathematics (Science Group)(Essay Type) . (WP~ Gl- 2/ (::tﬂl)(,,fu"'v)(f L

Marks: 60 Time:2:10 Hours 2'2:10::3, 60:/-.2
Section -I 2x18=36 Jito
2. Write short answers of any six parts from the following. 2x6=12 -u_’):/foglz/‘?ﬁplztggéfc_ufd_sb/: 2
i. Define quadratic equation. -z;{;y/’JouL/&uu i
ii. Write in standard form. " j_ 4 + . 1- 1 =3 - 'f{;f@gy[._-,uu Ji
1y 9 1Y 9
iii. Solve: (ZX—E) =3 -Z_,—U’I(ZX—E) =7 i
iv. Discuss the nature of the roots of the quadratic equation. 2x* =Tx+3=0 _e_féf.{(u!&u%&u,\/&w v
v. Evaluate: (l—w+ wz)6 mé_‘-?,h’;;f v
vi. Show that: (£ +*)=(x+y) e+ wy)(x+w'y) Sk i
vii. Find the value of p, if the ratios 2p+5:3p+4 and 3:4 are equal. _un/.!/.3:41312p+5:3p+4uffjfl’<’:-/r}"¢,§JP Vi
viii. fvoc R? and v=5 when R=3 find R when v=625. _ﬁv=625.?§-/(:1” RR=3_2v=5.v o R3/’;l Vi
ix. Find a third proportional to 6,12. J¢_§?;"’_/t§lﬁ? £6,12 .ix
3. Write short answers of any six parts from the following. 2x6=12 _q&fag'zf?éflzgc_,éfcdd_ibu 3
i. Resolve into partial fractions. ﬁ){%’ﬁ ‘Q/J:b;utu:/d;‘z i
ii. What is an improper fraction? ?g_&nt_f/._fel:/:f i
iii. Find YN T, If Y=2z*, T=0" Sy S YOIT i
iv. Define a function. ‘Q/_g/’&)‘u? v
v. If A=N and B=W then find the value of A-B. <¥_~K(:1”;,EJA~B?MB=W/:1A=N/? v
vi. Find two binary relations in MxM if: L={a,b,c},M ={d,e, f.g} :ﬁq)}#’gjl;zéL;;)uﬁMxM Vi
vii. Find arithmetic mean by direct method for the set of data. _z_i-/p%/,w Kol 8 bty Vil
200,225,350,375,270,320,2580
viii. What is a Histogram? sl LSS i
ix. Define Median. _a_ff._@}J:;w/, X
4- Write short answers of any six parts from the following.  2x6=12 - /zfcbiz L Jzig = et ity -4
i. Verify the identity. (1-sin@)(1+sin @) =cos’ @ -4;/,3 i

ii. Define an angle. \ _L)_“/.._&,J/‘U:;U i



4 B R R R, PPN W T Y =LA ks

4
1 1 ’
iv. Find 7, when £ =4cm, 6 =Zradians. ; .8 zEuj,}i/ » L =4em .lf’q/pl” roiv
v. Define ratio and give one example. S JeLnig Sy Pl v
vi. if wec 1v2 and w=2 when v=23, then find w . -J”/’/(yl"‘wi"ﬂv=3_,>.w:2ulwoc%z A i

vii. Express sexagesimal measures of angle in decimal form: 60°30/'30" ,Mu:‘fﬁJ,My;,uéé_)u:uwéﬂfp Vi
viii. Ina A ABC calculate mBC when: m AR = SCm,mZE =4cem,ms/A = 60° ?J?-L{/rfh’ mBC J AABC  viii

. & ix. Divide an arc of any length into two equal parts. -(j_/ﬂ:{jfur“’/.'/.»fui.@f(}/ylf ix
Section -II 8x3=24 (222>
Note: Attempt three questions in ail while Q:No.9 is compulsory: -‘adjﬂs/:}dfr,éqj};aL’ﬁ;ﬁoﬂlmfd/zgﬁu’
5. (a) Solve by completing square. 3’ +7x=0 -Q/J’d/g)i{:gz,'g () .5
(b) Find the value of &, if roots of the equation wuﬁa}?kf.-—é& k(L)
(3% +2)x* ~5(k+1)x+(2k+3)=0 are equa Ul (3k+2) %" =S (k +1) x+ (2k +3)=0
6. (a) Using theorem of componendo-dividendo 14 Zig: + thi LnL/JW'MﬂJ}J? () 6
find the value of: :ii: + :igi if: 1 = :Tl; : m= ’lloji fl-{ﬁ;,bf_-,,}
x* —3x 41 . ‘
(b) Resolve into Partial fractions. (x— 1)2 (x—Z) -L[/ﬁut//d,'f. ()
7.(a) If U={1,2,3,4,5,6,7,8,9,10} A={1,3,5,7}, and J"A:{1,3,5,7,9}fu-_—{1,2,3,4,5,6,7,8,9,10}ﬁ I 7
B={2,3,5,7,9},then verify that: (ANB) =4'UB’ -a}-fawnB:{z,s,sJ}
(b) Find the standard deviation "S" 9,3,8,8,9,8,9,18 -%?)‘V"S"Jfldjgv ()
sin 6+ cos 6 cos’ 6 :
8. (a) Verify identity: 01 - snf_oond Skl (L) 8
(b) Draw two equal circles of each radius 2.4cm. If the distance ﬁ/iulﬁ,u:?{_}UJA/»LBJUJKZA (L)
between their centres is 6cm, then draw their transverse tanngent. _u%‘b’u/;?ulm?ﬁ(ss.lﬂﬁdyug
9, Proye that: a straight line, drawn from the centre of a circle to bisect a AL n;ﬁx)Jrcf/cic_/’f;:fa_i(qE .9
chord ( which is not a diameter) is perpendicular to the chord. - tﬂ:/{}g(bﬁUI;L/
OR ¢

Prove that: in any triangle, the square on the side opposite to acute angle d/Ké‘.’JGDL:,Uubufwu’Cfg-;E
is equal to sum of the squares on the sides containing that acute angle z.,iju‘f”»;u,fc.aﬁaiuﬂfﬁcuzrud;

diminished by twice the rectangle contained by one of those sides and the e J":Lc_/u{wulugc_uﬁ[,wmg!

projection on it of the other. e Eomphedlec
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S.8.C - (Part-II)-A- 2021

WRIWW
Roll No.

s P
4.//,,;?/1:4_/1

( For all sessions )
Group-II- u’/
Mathematics (Science Group)(Objective Type) PwP. 62 —)-/(U‘/")(u)/u"'lr)dald

Marks: 15 . Time: 20 Minutes &*20:5s 15/
/Jvuud(dwf o s Wiz e & sDI,.CB A_,uy,médfy/‘g% ww‘; vufjjuuni_,myru <
-J:/f;u:uJu”L/ L,Q,/u,wc—,u*uuuéo L CBAszelL
- NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of

Paper Code | 7 119 8|

gach question with Marker or pen ink on the answer sheet provided.

1.1. In a proportion a:b::c:d, "a" and "d" are called: -ujZ_Mdmau'ia:b::c:d_/(i 14
(A) means ¢ (B) extremes oA/
(C) third proportion o€~ (D) fourth proportion —-#2
2. The identity (5x+4)2 =25x" +40x+16 is Jx‘(5x+4)2 = 25x% +40x +16 LY 2
true for value/values of * . s w/)éj_ﬁuk’“/.:ag ......
(A) one A (B) two » (C) three 7 (D) all (v
3. A collection of well-defined objects is called: -c‘_m&ﬁ&?@"’u 3
(A) Subset wxF (B) Powerset Zssi  (C) Set o (D) Emptyset <ab
4. The set {x/xewAx<101}is called: et {x/xewnx<101}op 4
(A) Infinite set Lo§3ZF  (B) Subset :{G’{ (C) Empty set ~2sdb (D) Finite set (s
5. Mean of a variable with similar observations say constant k is: -+L“ﬁ}wlg}Véﬁfkﬂﬁj“"’”f@ouu’fuﬁ’/!ﬂ/f‘f 5
(A) negative d’ (B) Kitself | KoPahi (C) zero A (D) one .«Q
6. The most frequent occuring observation in a data set is called: -:‘,Jikﬁadbi.t’.;/ug)c,\./uf;vdr .6
(A) Harmonic mean Lt 74 (B) Mean 4~ (C) Mode ok (D) Median s
- —1—cos ecd5’ = .......... -1—cos ecd5® = ... 7
) 2
1 1 NE)
B 273 ® 5 © 2 ©
8. Right bisector of the chord of a circle always passes through the. c:,---_ujl_/f:irtwtd»féhﬁgib .8
(A) radius  Jlv (B) centre Jr (C) circumference b7 (D) diameter
9. A circle has only one . N N Sfid b 7kl 9
(A) centre Yy (B) chord s (C) radius Ut (D) diameter &
10. A 4cm long chord subtends a central angle of 60°. The radial segment -‘Ltu,:lJKGOO{f/};ng,Lf(4ug .40
of this circle is: 0 N— S 75
(A) 51 om (B) #§720m (c) #§=3cm (D) K54 cm
11. Circles having three points in common. _uxz&w'_f;%fz‘.;u M

(B) collinear /4

(A) overlapping ,f!/“'

(C) not coincide byie

(D) different ¥

12. An equation of the form 2x* =3x° +7x* —3x+2 =0 is called: O 2x* =3 + 72t =3x+2=0=blr 12
alan equation: el wgq.
(A) reciprocal u’;g" (B) radical (/i (C) exponential JL/'.:,} (D) None of these u:‘idfc;ufu!
13. Two square roots of unity are: <u_?&/bj_m£JK4 13
(A) 1w (8) 1,-1 € -w,—w (D) w,w?
14§ & , :Bare the roots of 7xz -x+4= O,then 0‘/8 is equal to: —<4ls aﬂ ?uw’uﬁ 7x2 —x+4=0.0 ﬂ a /’/l .14
-1 7 4 -4
(A = B) 4 © 7 ©) = /
15. If a:b=x:Y  then alternando property is: ceduinaib=x:y /i 15
gz_b_ a_x a+b=£i)i a—b:x—y
(LR ® 5 y © 5y ® 5

16-10-A-Fr Y-



S.8.C - (Part-IT) -A-2021

Roll No. &b ( For all sessions )
o Grou[;-ﬂIi‘—;)f‘ B .
Mathematics (Science Group)(Essay Type) pr. 42: 2-, :ﬁ’lﬁ;l)(?:fu‘."’lf)w&J

Marks: 60 Time:2:10 Hours & 2:10:=% 60: 7
Section -I 2x18=36 Jilo>
2. Write short answers of any six parts from the following. 2x6=12 -Q’/C/fczui./"'}zflzgc.&rc.d‘,bbu .2
i. Solve the equation by using quadratic formula. 2-x*=Tx -:’"Tia’r_db"’/lé UG amsdetslnr
ii. Solve: x'+2x-2=0 ﬂcgf‘f i
iii. Define quadratic equation. -é:.“dbgﬂfobi/duu i

iv. Write the quadratic equation having roots 3+ V2 .3- \/E At V2 3442 ujuciu)-é_fqpbbf&/)u v

v. Evaluate: 7 W+ w41 _q-f-F)”c;g v
vi. Discuss the nature of the roots of the equation. 2% —Tx$3=0 -’c_{&—fg,’b’"f‘fnﬂJLo’:P Vi
vii. If the ratios 3x+1:6+4x and 2:5 are equal. Find the viaue of X . Urslz2:5u03x+1:6+4x u:-”//l Vi

e x5
viii. acoc bl—zand a=3 when b=4, find "a" when b=8. ,nb=8.?.’¢}§}”“a"<‘:_b=4.,.>.a=3/,! ac biz Viii
ix. Find a mean proportional between. y-y; i:i -%}’“L/L'ﬂélm ix
3. Writé short answers of any six parts from the following. 2x6=12 ,q)};’c,guzﬁ?éfizugc,éfc_wijw 3

i. Resolve into partial fractions. " i;j? -é:__{dz%b/d;‘z K

ii. What is proper fraction? ?q_&n(:(/s_.»%': i
iii. State De Morgon's laws. ,u_“fuy.ufl;’ZuCLd;‘ Jii
iv. Find B~ A4, If A=N,B=W Sk B4 v
v. Write all the subsets of the set {a,b} . ..u'.‘.d‘//d»_{‘&;raé {a,b} or v
vi. Find "a" and "b" if (3-2a,6-1)=(a=7,2b+5) Segebond §ba i
vii. Name two measures of central tendency. -uf‘%téuﬁg»éul?udf/ Vi

viii. Find the arithmetic mean of data. 200,225,350,375,270,320,29G _u_“f(}”‘mldubfﬂr viif

ix. Define standard deviation. -u:/’:.é{/?J_j’i}dJL*f X

4- Write short answers of any six parts from the following. 2x6=12 -q[ff;yzﬁ%iazug;é/c_gﬁ‘}.;w -4
9 ‘ . 9
i. Find tan @ when cos@ = Z_l and terminal side _é}"‘ tan @ jy Gl 2s\$Tw1E 6 5 cos 6 = Zl" Jii

of the angle @ is in fourth quadrant.



. pr. G622/

u How many minutes are there in two rlght angle7 ‘Ll ru’:""ﬁfg){u‘dﬂﬂf.ﬂ?u i
iii. Convert ~ radians to degrees. u‘df/u,u i
iv. Define inverse variation. c§i_v/’u@’:‘:’/-" v
v. Find X if 6:x::3:5 Ui x76: 51354004
vi. In a triangle ABC, measure the length of projection of AC upon BC ,':L’”(}’VJ AC Jb{ BC AABC i
mAC =17cm mBC = 2lem,mAB = 10cm Sy S
vii. Divide an arc of any length into four equal parts. ,u/ﬂu*u//i//bfuiwfd/duu’( Vil
viii. Prove that: (1-sin ?6)(1+ tan? 0)=1 g i
ix. What is the circular measure of the angle between the hands of ,:‘Jufig?&:}f)uyuéu;:’ygfd/”r.L'S ix
the watch at 3 O'clock. T tnl
Section -II 8x3=24 (2
Note: Attempt three questions in all while Q:No.9 is compulsory: L ;,‘Uiy,,éq/}f;,uzéi.-.uwd‘)’:.:)
5. (a) Solve by completing square. 7x? + 2301 N ‘u_’/d"c‘,"/d:‘(;u,@ ) s
(b) Prove that' x3+y3+z3-3xyz=(x+y+z)(x+ wy + wzz)(x+ w2y+wz) _a_{_a,:e ()
6a-5b _ 6c—-5d
atb=c:d(a,b,c,d+0 a,b,c,d=0)a:b=c:g :
6. (a) If ( )then show that: Y55 60154 ,,/céi,w ) A () 6
1
(b) Resolve into Partial fractions, (xz - 1)(x 4 1) «q’ffufn/d;’z ()
7.(a) IfU={1234, .. 10} A={1,3,5,7,9}, and - /;lA={1,3,5,7,9}«U={1,2,3,4,....‘“10}/7 ) .7
B={1,4,7,10}.then verify that: A-B=ANE' Je_&-ﬂ,,e?na={1,4,7,10}
(b) The salaries of five teachers (in Rupees) are as follows: -q?fd;(uﬁa?_u)%ﬂf&fwégutdj (&)
Find the standard deviation. 11500,12400, 15000,14500, 14800 Jd;{pl”‘dff}w_ly
sin & + cos &  cos’é
8. (a) Verify: — Uk (L) 8
L tan’ 6 —1 qmﬁ cos @ u’
(b) Draw circle which touches both the arms of angle 60°. _g:{fw,;guij)ié’eroéfé_)ﬁu;{'{/’b (L)
9. Prove that: any two angles in the same segment of a circle are equal :ux(‘j.!:ui‘u’u.xb’"dbg;?{_,u:fg-fgﬁ .9

OR " - s Ay

Prove that: If two arcs of a circle(or of congruent circles) are u_":"'u/;lufu’b(ﬁvﬁ_tu}}uf%;:fgqE

congruent, then the corresponding chords are equal. s &U}:Luf?ungﬁf“
20-10-A-
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